

Stirling Numbers and Riemann Zeta Function

F. Cortés-González and J. López-Bonilla

ESIME-Zacatenco, Instituto Politécnico Nacional,
 Edif. 4, 1er. Piso, Col. Lindavista CP 07738, CDMX, México

Abstract: We study certain identities of Srivastava-Choi involving Stirling numbers and the Riemann zeta function.

Key words: Stirling numbers - Riemann zeta function - Harmonic numbers

INTRODUCTION

Srivastava-Choi [1] obtained the following relations:

$$\sum_{k=0}^{\infty} \frac{(-1)^k}{(k+n)(a)_k} S_{k+n}^{(n)} = -\frac{(1-a)_n}{n!} \psi^{(n)}(a-n), \quad n \geq 1, \quad (1)$$

$$\sum_{k=0}^{\infty} \frac{(-1)^k}{(k+n-1)(a)_k} S_{k+n}^{(n)} = \frac{(-a)_n}{a(n-1)!} \psi^{(n-1)}(a-n), \quad n \geq 2,$$

Involving Stirling numbers of the first kind and polygamma functions [2-7].

If in (1) we apply:

$$a = n+1, \quad (-n)_n = (-1)^n n!, \quad \psi^{(n)}(1) = -(-1)^n n! \zeta(n+1), \quad n \geq 1, \quad (2)$$

We deduce two interesting expressions for the Riemann zeta function:

$$\sum_{j=n}^{\infty} \frac{(-1)^{n+j}}{j \cdot j!} S_j^{(n)} = \zeta(n+1), \quad n \geq 1, \quad (3)$$

$$\sum_{j=n}^{\infty} \frac{(-1)^{n+j}}{(j-1) \cdot j!} S_j^{(n)} = \zeta(n), \quad n \geq 2. \quad (4)$$

The property (3) is the Shen's identity [8-11], but we make to note that (3) and (4) also were obtained by Jordan [12] and Hansen [13]. If in (1) we employ:

$$a = n+2, \quad \psi^{(n)}(2) = -(-1)^n n! [\zeta(n+1) - 1], \quad n \geq 1, \quad (5)$$

We find the relations:

$$\sum_{j=n}^{\infty} \frac{(-1)^{n+j}}{j \cdot (j+1)!} S_j^{(n)} = \zeta(n+1) - 1, \quad n \geq 1, \quad (6)$$

$$\sum_{j=n}^{\infty} \frac{(-1)^{n+j}}{(j-1) \cdot (j+1)!} S_j^{(n)} = \frac{1}{2} [\zeta(n) - 1], \quad n \geq 2; \quad (7)$$

With (4) and the recurrence property of the Stirling numbers of the first kind [5]:

Corresponding Author: J. López-Bonilla, ESIME-Zacatenco, Instituto Politécnico Nacional,
 Edif. 4, 1er. Piso, Col. Lindavista CP 07738, CDMX, México. E-mail: jlopezb@ipn.mx,

$$S_{j+1}^{(n)} = S_j^{(n-1)} - j S_j^{(n)}, \quad (8)$$

It is immediate the identity [1, 12, 13]:

$$\sum_{k=n+2}^{\infty} \frac{(-1)^{k+n}}{(k-1)(k-2) \cdot (k-1)!} S_k^{(n+2)} = \zeta(n+1), \quad n \geq 1. \quad (9)$$

We note that the expression [7]:

$$\psi^{(n)}(m) = (-1)^{n+1} n! \left[\zeta(n+1) - \sum_{r=1}^{m-1} \frac{1}{r^{n+1}} \right], \quad (10)$$

Implies the values (2) and (5). If in (3) we use $n = 2$ and [5]:

$$S_k^{(2)} = (-1)^k (k-1)! H_{k-1}, \quad (11)$$

Involving harmonic numbers, then we obtain the relation [1, 8]:

$$\sum_{k=2}^{\infty} \frac{H_{k-1}}{k^2} = \zeta(3). \quad (12)$$

We know the inversion formula [5, 6, 14, 15]:

$$\sum_{r=k}^n f(r) S_n^{(r)} = g(k) \quad \therefore \sum_{r=k}^n g(r) S_n^{[r]} = f(k), \quad (13)$$

Whose application to (3) gives the identity:

$$\sum_{k=n}^{\infty} (-1)^k \zeta(k+1) S_k^{[n]} = \frac{(-1)^n}{n \cdot n!}, \quad n \geq 1, \quad (14)$$

Involving Stirling numbers of the second kind [5]. If we remember that $S_k^{[1]} = 1$, $k \geq 1$, then from (14) for $n = 1$:

$$\sum_{j=2}^{\infty} (-1)^j \zeta(j) = 1, \quad (15)$$

Which is a particular case of the expression [1]:

$$\sum_{j=2}^{\infty} (-1)^j \zeta(j) t^{j-1} = \psi(1+t) + \gamma_0, \quad (16)$$

For $t = 1$ and $\psi(2) = 1 - \gamma_0$, where γ_0 is the Euler-Mascheroni constant [1, 16, 17].

Similarly, the relation (4) for $n = 2$ implies [5]:

$$\sum_{j=2}^{\infty} \frac{H_{j-1}}{j(j-1)} = \zeta(2), \quad (17)$$

and the inversion of (4) via (13) gives the identity:

$$\sum_{j=n}^{\infty} (-1)^j \zeta(j) S_j^{[n]} = \frac{(-1)^n}{(n-1) \cdot n!}, \quad n \geq 2, \quad (18)$$

where we can employ $n = 2$ and $S_j^{[2]} = 2^{j-1} - 1$, $j \geq 2$, to obtain:

$$\sum_{j=2}^{\infty} (-2)^j \zeta(j) = 3, \quad (19)$$

Which is a particular case of (16) for $t = 2$ and $\psi(3) = \frac{3}{2} - \gamma_0$. We may realize a similar study for (6) and (7).

REFERENCES

1. Srivastava, H.M. and J. Choi, 2012. Zeta and q-zeta functions and associated series and integrals, Elsevier, London.
2. Comtet, L., 1974. Advanced combinatorics: The art of finite and infinite expansions, D. Reidel Pub., Holland.
3. Sándor, J. and B. Crstici, 2004. Handbook of number theory. II, Kluwer Academic, Dordrecht, Netherlands.
4. Aigner, M., 2007. A course in enumeration, Springer, Berlin.
5. Quaintance, J. and H.W. Gould, 2016. Combinatorial identities for Stirling numbers, World Scientific, Singapore.
6. Spivey, M.Z., 2019. The art of proving binomial identities, CRC Press, Boca Raton, FL, USA.
7. https://en.wikipedia.org/wiki/Polygamma_function
8. Shen, L.C., 1995. Remarks on some integrals and series involving the Stirling numbers and $\zeta(n)$, Trans. Amer. Math. Soc., 347: 1391-1399.
9. Adamchik, V., 1997. On Stirling numbers and Euler sums, J. Comput. Appl. Maths., 79: 119-130.
10. Choi, J. and H.M. Srivastava, 2005. Explicit evaluation of Euler and related sums, The Ramanujan Journal, 10: 51-70.
11. Sato, H., 2008. On a relation between the Riemann zeta function and the Stirling numbers, Integers 8: # A53.
12. Jordan, C., 1965. Calculus of finite differences, Chelsea Pub., New York.
13. Hansen, E.R., 1975. A table of series and products, Prentice-Hall, Englewood Cliffs, New Jersey.
14. López-Bonilla, J., J. Morales and G. Ovando, 2020. Stirling, Lah and Bernoulli numbers, American-Eurasian J. Sci. Res., 15(2): 52-55.
15. Gómez-Gómez, E., J. López-Bonilla and T.J. Salazar-Sandoval, 2020. Identities of Vassilev and Jha for Bernoulli numbers, African J. Basic & Appl. Sci., 12(2): 34-36.
16. Havil, J., 2003. Gamma. Exploring Euler's constant, Princeton University Press, New Jersey.
17. López-Bonilla, J. and S. Vidal-Beltrán, 2017. An expression for the Euler-Mascheroni's constant, Comput. Appl. Math. Sci., 2(1): 7-8.